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Tick to show whether you would use a mental, a written
or a calculator method to solve each question.

•
Then fill in the missing numbers.
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NOW TRY THIS!





•	On the back of this sheet, write three missing�number questions:


	a one you would answer mentally


	b one you would answer using a written method


	c one you would answer with a calculator.





















































































































































































































































Missing numbers










